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1. Answer the following as directed : 1x10=10
FatiRe erpiyes Pt spiRk Bes fon

fa) What is the norm or ideal of logic as a
normative science?

& s Rem Bt shRemm sl &9

(b) “~ p’ is a simple/compound statement.

( Write the correct answer )

‘~ p’ &b1 3 /(T RS
(0% Tl o )
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(c)

(@

(e)

@)
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Give an example of an argument.
<1 I3 Tz |

How many kinds of propositions are
there according to the modern
classification of propositions?

YFE RS PR 9 @ o 2

On what the validity of an argument
depends?

e tve Re3 e e 71 2

Do you think that if all the premises of
an argument is-true then the argument
is valid?

W T IS w1 wm e
1 94 23 I SR 2

Under what combination of truth-values
a conjunctive function becomes true?

- (T AT Bl FARE For] )
%37

Can a proposition be both true and
false?

aﬁmmwwma’am?

( Continued )

(i)

0)

2. Answer briefly :

(3)

‘Aristotle is a philosopher'—is a general
proposition/class-membership pro-
position.

( Write the correct answer )

“gRB°ToE e e e’ —dR T
AT 369/ IR TPl 967 |
(o5 T o )

State under what circumstances two
sets A and B are identical.

& RS 761 =S A wIF B 9F X7

5y beq o -

(a) State the definition of logic as put

forward by I. M. Copi.
I. M. Copi @ SIPRCPRI SR ACRG!

TEd 0

(b) What is formal logic?

8A/373

SRR SR &2
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3. Answer briefly (any foun :

8A/373

(4)

{c) Under what two conditions an argument
becomes sound?

R W o X0 b TR o Y

(sound) IF EFRI = ?

(d) What is a decision procedure? Is truth
table a decision procedure?

Reftwe oRRT o B g7 T O @
e aférn = 2

(¢} Define propositional variable.

IARE “IRIGT 5T i

v %1 i (R coreen wifd)

fa) Describe the structure of an argument
with the help of an example.

aﬁmmtﬂr{l%wmacme|

() Explain briefly about five logical
constants.

mmmmﬁ@@mﬁwqw
S19RTERT |

5x4=20
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(5)

{c) Define a general proposition with an
example. Explain the three types of

general proposition briefly. 2+3=5

9Bl SRR 30 ARG 69 & B | F¥fR
SFIR HAET 64 YT A T4 |

(d) Explain and illustrate union of sets. .

N @ A R T SrrRa &
1

(e) Explain conjunctive and implicative

S

functions with truth table. 2Y%+2Y%=5

Wmm_ﬂwwﬁ%@w
I 40

What is an argument? Explain the
distinction between an argument and
argument-form with suitable examples.

e TR QR 7 TogE TR Gies IR W -
PRI W&o 491 1LFT I 41 |
What is truth table method? Explain the

truth table method of determining the
validity of arguments with suitable examples.

msﬁwﬁ%ﬁ?mwﬁmﬁ%wwm
P Gavel A FR 1R, T Tt Giee
T 0 |
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(6)

Or / T

Find out the logical status of the following
statements with the help of truth table
method :

o) Sl o] a1 oo fim R o &S
e Fa1:

(@ [~~(pv~q)>~(pv~~q)]
M) (~p=qg)=l(~p>4q)-g>~ p)

6. What is a simple proposition? Define each of
the different forms of simple proposition with
examples.
WWWW?WW‘%‘WEIW
AL THIRAPTR 5@ for |

Or/ W
Explain the modern classification of
proposition.
oo YRS cRen am F+40 1

7. Define set. What do you mean by
set-membership? Explain with examples.
AR @ o | AR e e B qe e
SATZIPIE I 41 |
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Or / #%y

Symbolize traditional AEIO propositions by
using set notations. Define and illustrate the
following : '

@IS AEIO PR TRRA o@emm wm
AOFIE TS PP T | OIe AP TR
ige fordt .

(a) Difference of sets

AR N7

(b)) Empty or null set

1 31 e xefS

(c) Intersection of sets

’I\i‘ 33 Wo(ﬁ‘ﬁ

* % %

4+6=10
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